Fiche ……
Fonctions 
Fo6


Repérage dans le plan


(Entraînement 1 
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(Entraînement 2 Complète :

· A ( 4 ; 3 )

donc xA = 4 et yA = 3
l’abscisse du point A est : 4
l’ordonnée du point A est : 3
· B ( - 2  ; …… )

donc xB = …… et yB = …….

l’abscisse du point B est : ….

l’ordonnée du point B est : ….

· C ( …… ; …… )

donc xC = …… et yC = …….

l’abscisse du point C est : ….

l’ordonnée du point C est : ….

·  D ( …… ; …… )

donc xD = …… et yD = …….

· E ( …… ; …… )

donc xE = …… et yE = …….

· F ( …… ; …… )

donc xF = …… et yF = …….
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